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A miss is as good as 93,000,000 miles. 
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A.
Allow oneself to behave
much more freely than
usual and enjoy oneself  46 
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B. Imitation is the sincerest
form of ___  99 
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C. River Styx ferryman in
Greek myth  27 
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D. Large sea snail whose
flesh is a desirable food  61 
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E. Controversial Teamsters
president 100
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F.
She won a Pulitzer Prize
for The Optimist's
Daughter  77 

 
 10 

 
 14 

 
 93 

 
 40 

 
 26 

   
 88 

 
 57 

 
 83 

 
  5  

 
 34 

.

G. American League East
team  31 
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H. Fasten; join
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I.
A person, especially a
young woman, who is thin
or gaunt  43 
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J. Make public; reveal
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K. Federal law enforcer in
Canada  67 
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L. Brand of die-cast toy cars
introduced in 1968  60 

 
 35 

 
 33 

   
 42 

 
 91 

 
 84 

 
 25 

 
 98 

 
108

.

M. In perfectly functioning
order  37 
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